Level A
Weekly exercise L45_2
Answers

(Pour que les liens fonctionnent, ce document doit étre ouvert avec votre
traitement de texte, et non pas Wordpad.)

Aprés avoir consulté ce document, et/ou écouté cette lecon, écrivez les
guestions se rapportant aux mots entre parenthéses.

- A delay of even one second destroys (much of the effect.)
What does a delay of even one second destroy?

- They’ll be faced with (many problems.)
What will they be faced with?

- (In the last few days) her life took a particularly cruel turn.
When did her life take a particularly cruel turn?

- It may affect (Americans’) style of communication.
Whose style of communication may it affect?

- They should have (considered both solutions.)
What should they have done?

- Many people will have (long-term problems.)
What will many people have?
Attention, ici "have" n'est pas auxiliaire mais simple verbe.

Pour étre auxiliaire, il doit étre suivi d'un verbe au participe passé, ce qui
n'est pas le cas dans cette phrase puisque "long-term problems" est un
groupe nominal.

- Paisley should have (posed with new friends.)
What should Paisley have done?

- The children were allowed to take (their father’s) car.
Whose car were the children allowed to take?

- The postman must deliver (twenty) parcels before ten.
How many parcels must the postman deliver before ten?

- The postman must (deliver twenty parcels) before ten.
What must the postman do before ten?
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Pour progresser :

http://www.jjhochart.net/ APPRENDRE/EXERCICES/Bases-anglais/L es-Bases-Transformation-
Interrogative.php
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